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Diving into Mastery Guidance for Educators

Diving

Deeper

Deepest



Aim
• Compare and order fractions whose denominators are all multiples of 

the same number.



Compare and Order Fractions Less Than 1 Diving

Use these bar models to compare 45 and 7
10.
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Draw two bar models to compare 23 and 56.
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Compare and Order Fractions Less Than 1 Diving

Use common numerators to help you compare 25 and 27.
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Draw two bar models to compare 35 and 34.
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We can see from the bar model that fifths are bigger than sevenths. 



Compare and Order Fractions Less Than 1 Diving

Compare these fractions by finding a common numerator.
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Compare and Order Fractions Less Than 1 Diving

Use the boxes given to write equivalent fractions with a common 
denominator to help you compare the three fractions. 
Then, order the fractions from smallest to largest.
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Compare and Order Fractions Less Than 1 Deeper

Georgia has drawn two bar models to compare 23 and 26.

Explain the mistake she has made.

Georgia has not understood that the whole of each bar model needs to be the 
same size. This has led to her bar model wrongly showing that 23 and 26 are the 
same size.



Compare and Order Fractions Less Than 1 Deeper

Harvey has ordered these fractions from smallest to largest. 

Is he correct? Explain your reasoning using a common denominator.

Harry is not correct.
3
6 is equivalent to 6

12 so 5
12 should come before 36 .
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Compare and Order Fractions Less Than 1 Deepest

How many different ways can you correctly fill in the missing numerator?

Your fraction needs to be less than 1. Prove your answers are correct using 
either bar models or your knowledge of equivalent fractions.
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Compare and Order Fractions Less Than 1 Deepest

Harriet is thinking of a fraction that is larger than 14 but smaller than 58.
The denominator is a multiple of 2.

What fraction could it be? Draw three bar models to prove your answer.

Harriet’s fraction could be 48 .
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Harriet’s fraction could also be 38 or fractions equivalent to 48 (such as 24 or 12).
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Dive in by completing your own activity!

Compare and Order Fractions Less Than 1
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